Hypothesis testing worksheet



Name ________________________
The mean yield of corn in the United States is about 135 bushels per acre.  A survey of 40 farmers this year gives a sample mean yield of 138.8 bushels per acre.  We want to know, within a 0.05 level of significance, whether this is good evidence that the national mean this year is not 135 bushels per acre.  Assume that the standard deviation of the population is 10 bushels per acre.

1.
State the null and alternative hypotheses:

2.
Determine the level of significance:

3. 
Use the z-test for the mean to find the standardized test statistic:

4. 
Determine the nature of the test and sketch the distribution:

5. 
Find the P-value for the test statistic:

6. 
Make a decision to reject or fail to reject:


Write the statement:

Over a period of time it has been found that the average number of cavities a child has per year is .36 Freshdent Company has developed a new toothpaste. A random sample of 40 children who used Freshdent for a year was taken. The mean number of cavities for the sample was .31 with a standard deviation of .15 cavities. Test the claim at the .05 level of significance that children who use Freshdent toothpaste have better yearly checkups. 

1.
State the null and alternative hypotheses:

2.
Determine the level of significance:

3. 
Use the z-test for the mean to find the standardized test statistic:

4. 
Determine the nature of the test and sketch the distribution:

5. 
Find the rejection region for the level of significance:

6. 
Make a decision to reject or fail to reject:


Write the statement:

